
 

Gm.Gm.wm cixÿv-2024 

‡K› ª̀ Avw`qvev`, ‡K› ª̀ †KvW-193 

Avmb web¨vm 

¯‹zj feb 2q Zjv 

  

Kÿ bs-

228 

wmivRbMi D”P we`¨vjq(weÁvb ) 139790--139799 = 10 Rb 

  ‰LbKzU D”P we`¨vjq(weÁvb ) 139776--139789  = 14 Rb 

                                                                          ‡gvU= 24Rb 

 

Kÿ bs-

229 

wmivRbMi D”P we`¨vjq (gvbweK)-326166--326181 = 16 Rb 

   ‰LbKzU D”P we`¨vjq (gvbweK) -326116--326131 = 16Rb 

                                                                         ‡gvU=32Rb 

 

Kÿ bs-

230 

wmivRbMi D”P we`¨vjq (gvbweK)-326182--326193 = 09 Rb 

   ‰LbKzU D”P we`¨vjq (gvbweK) -326132--326161  = 20Rb 

                                                                          ‡gvU= 29Rb 

 

Kÿ bs-

231 

wmivRbMi D”P we`¨vjq (e¨e.wkÿv)-529568-529580 = 13 Rb 

   ‰LbKzU D”P we`¨vjq (e¨e.wkÿv) -  529558-529564 = 07Rb 

                                                                         ‡gvU=20Rb 

 

 

 

 

 

 

 

 

 



 

Gm Gm wm cixÿv-2024 

‡K› ª̀ Avw`qvev`-193 

Avmb web¨vm 

‡fby¨: G.‡K. Gg dLiæj Avjg Avigvb D”P we`¨vjq 

 

Kÿ bs-

04 

miKvwi Avw`qvev` D:we:I K‡jR(e¨e.wk QvÎ) 539604--529623 = 20Rb 

      Bmjvgcyi D”P we`¨vjq(e¨e.wk QvÎ) 529655--529673 = 19Rb 

                                                                                                    ‡gvU=39Rb                                                                      

Kÿ bs-

05 

miKvwi Avw`qvev` D:we:I K‡jR(e¨e.wk QvÎx) 529581-529602 = 22Rb 

      Bmjvgcyi D”P we`¨vjq(e¨e.wk QvÎx) 529643-529654 = 12Rb 

                                                                               ‡gvU=34Rb 

Kÿ bs-

07 

miKvwi Avw`qvev` D:we:I K‡jR(gvbweK QvÎx) 326195--326214 = 20Rb 

     Bmjvgcyi D”P we`¨vjq(gvbweK QvÎx) 326317--326336 = 20Rb 

                                                                                 ‡gvU=40Rb 

 

Kÿ bs-

08 

miKvwi Avw`qvev` D:we:I K‡jR(e¨e.wk QvÎ) 529624-529642 = 19Rb 

     Bmjvgcyi D”P we`¨vjq(gvbweK QvÎx) 326297--326316 = 20Rb 

                                                                              ‡gvU=39Rb 

 

Kÿ bs-

09 

miKvwi Avw`qvev` D:we:I K‡jR(weÁvb QvÎ) 139845--139864 = 20Rb 

      Bmjvgcyi D”P we`¨vjq(e¨e.wk QvÎ) 139865, 

                                     139898--139912 = 16Rb 

                                                                                                    ‡gvU=36Rb     

                                                                  

Kÿ bs-

10 

miKvwi Avw`qvev` D:we:I K‡jR 139818-139844 = 27Rb 

      Bmjvgcyi D”P we`¨vjq  139884-139886= 03Rb 

                                                                               ‡gvU=30Rb 

 



 

Gm Gm wm cixÿv-2024 

‡K› ª̀ Avw`qvev`-193 

Avmb web¨vm 

‡fby¨: G.‡K. Gg dLiæj Avjg Avigvb D”P we`¨vjq 

 

Kÿ bs-

11 

miKvwi Avw`qvev` D:we:I K‡jR(weÁvb QvÎx) 139800--139817 = 18Rb 

     Bmjvgcyi D”P we`¨vjq(weÁvb QvÎx) 139866--139883 = 18Rb 

                                                                                 ‡gvU=36Rb 

 

Kÿ bs-

13 

miKvwi Avw`qvev` D:we:I K‡jR(gvbweK QvÎx) 326215--326234 = 20Rb 

     Bmjvgcyi D”P we`¨vjq(gvbweK QvÎx) 326337--326356 = 20Rb 

                                                                          ‡gvU=40Rb  

                                             

Kÿ bs- 

14 

miKvwi Avw`qvev` D:we:I K‡jR(gvbweK QvÎx) 326235-326253 = 19Rb 

     Bmjvgcyi D”P we`¨vjq(gvbweK QvÎx) 326357--326376 = 20Rb 

                                                                             ‡gvU=39Rb 

 

Kÿ bs- 

16 

miKvwi Avw`qvev` D:we:I K‡jR(gvbweK QvÎ) 326256--326275 = 20Rb 

     Bmjvgcyi D”P we`¨vjq(gvbweK QvÎx) 326377--326391 = 15Rb 

                                      QvÎ 326430--326434 = 05Rb 

                                                                          ‡gvU=40Rb  

                                             

Kÿ bs- 

17 

miKvwi Avw`qvev` D:we:I K‡jR(gvbweK QvÎ) 326276--326287 = 12Rb 

     Bmjvgcyi D”P we`¨vjq(gvbweK QvÎ) 326435--326448 = 14 Rb 

                                                                             ‡gvU=26Rb 

 

 



 


